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(Heterosexual)

(Homosexual)
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3
Heterosexual ( )
Homosexual ( )
Heterosexual ( )
) 135 ~ Homo Sexual (
4
18
19
20
2
22
23
24
20 28.0
200 22 145 18 8.0

15 ( 4)

177 88.5
23 115
200 100.0
75.0 MetroSexual (
) 115
)
16 8.0
40 20.0
56 28.0
44 22.0
29 145
2 6.0
3 15
200 100.0
21 220 19
23 6.0 24



55

2.5

95

9.0
6.5
5.5
35
2.5

~N B o w4 B -

200

155

2.5

8.0

55

6.5

35

6.5
9.0
6.5
5.5
2.5
95
35
8.0
155
2.5
7.0
35
5.5
35
2.5
55
35
100.0

7.0

35
35



41
60
63
36
200

S~ o N e

3 315
205 4 180 ()

171
23

"A

200

855
30 INGKO)

205
30.0
315
18.0
100.0

30.0

85.5
115
3.0

100.0

81

115



2.0

16.0

15

67.0

67.0
8.0
16.0
15
55
20
100.0

5.5

82



9
28 140
1 3 165
2 83 415
3 34 170
4 13 6.5
5 I 35
6 2 10
200 100.0
2 41.5 3 17.0
16.5 140 4 6.5 5 35

10 ( 9)



25,000 - 50,000
50,001-75,000
75,000

170 ( 10)

(GPA)

1.00-2.00
2.01-3.00
3.01-4.00

10

58
34
108

25,000 - 50,000

129
64

GPA)  2.01-3.00

(GPA) 3.01-4.00 29.0

(o

290
170
54.0
1000

54.0

50,001 - 75,000

(GPA)

35
64.5
320
100.0

64.5
1.00 - 2.00 3.5



28
(14.0)

(165)

2
(100)

%
(190)
5
(7.9)

I
(230)
67
(335)
£
(210)

64
(320)

80
(400)

9
(45.0)

79
(395)
8
(410)

23
(115)
&
(325)
%
(465)

7
(38.0)

67
(335)

8
(310)

16
(230)
59
(295)

0
(35)
8
(210)
0
(210)

2
(145)

%
(125)

23
(115)
i
(205)

2.50

281

2.51

281

240

251

321

301

85

SD.

0.956

0.932

0.888

1072

0.946

1.207

1014

0.940



10.

11,

12.

13

14,

15,

16.

(400)
3
(185)

%
(150)

%
(175)

3
(16.0)

(26.5)
60
(30.0)
106
(530)

106
(530)

17
(58.5)

07
(485)

0
(46,5

12(

(20)

79
(39.5)

(420)
4
(200)

3l

(155)

5)
(260)

5
(26.5)

)

Bl
(305)

17
(83)

2.75

2.96

3.20

3.82

431

3.88

3.65

3.10

86

SD.

0.930

1022

0.982

0.869

0.660

0.793

0.928

0.913



17,

18.

19,

2.

320

67 66
(335 (330

6 55
(330) (275)

R
(60)  (@715)

U6
(0)  (330)

2.50

40.0

2(

50
(25.0)

5
(29.)

61
(305)

67
(335)

)

14
(70)

16
60)

I
(235)

5
(225)

(L5)

25)

25)

(40)

1)

38.0

3.90

381

321

31T

335

87

SD.

0.997

1.064

0.954

0.986



240

281

2.15

2.51

301

39.5

38.5

41.0

339

46.5

420

45.0

230

230

29.5

32.5

281

251

305

88

310

321

210



10
395

11

420

12

382

13

431

14

185

)

260

16.

265

89

265 2.96
300 3.20
53.0 20.0
53.0 40.0
58.5
3.88
485
3.65
46.5
3.70



1

33.0

18

290

19

305

2.

3.90

381

321

90

335

330

315

335



193

200

9.5

14

8
12
200

61.0

189

200

94.5

9.5
35
1000

39.0
61.0
1000

39.0

94.5
55
100.0

55

il

35



505

I

69.0

66.0

99
101

138
62

13
68
200

495
505
1000

495

69.0
310
1000

310

66.0
340

34.0

92



55.0

86.5

20

A

86.0

173
21
200

110
0
200

172
28
200

86.5
135
1000

135

55.0
450
1000

45,0

86.0
140
100.0

140

93



22

()
104 520
% 4.0
2 1000
52 4.0
23
()
180 900
20 100
2 1000
900 100
24
()
80 100
120 60.0
2 1000

60.0 40.0

%4



195

26

63.0

20

76.5

159
41
200

126
14
200

153
4
200

310

195
205
1000

205

63.0
370
1000

165
235
1000

235



130

70

65.0

35.0

65.0

350

100.0

96



10.

11

13.

29

9.0

(6.5

(1.5)
112
(56.0)
2
(11.0)
49

(24.5)

(40.0)

(17.0)

67

(33.5)

(21.5)

9.0

48

(24.0)

(19.0)

(91.0)
187
(93.5)
197

(98.5)

(44.0)
178
(89.0)
151

(75.5)

(60.0)
166

(83.0)

(66.5)
157
(78.5)
182
(91.0)
152
(76.0)
162
(81.0)

200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)
200
(100.0)

97
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56.0 40.0
335 24.5
24.0 ( 29)
5
30
()

<185 52 26.0
18.5-22.9 0 45.0
23.0- 249 ( ] ) i 6.0
25.0-29.9 1 42 210
>-30.0 2 4 20

200 100.0

45.0 26.0
1 21.0 6.0 2 2.0

30)



One Sample t-test (Test Value = 4)

0.05

One Sample t-test (Test Value = 4)

0.05

One Sample t-test (Test Value = 4)

0.05

99



Mean

2.63
3.29

3.57
- p <0.05

31

t -25.764

0.05

t -15.949

0.05

t -7.814

0.05

31

One Sample t-test

S.D.

0.752
0.628

0.775

2-tail Prob.

2-tail Prob.

2-tail Prob.

-25.764
-15.949

-7.814

0.000

0.000

0.000

100

2-tail Prob.

0.000*
0.000*

0.000*



32

Mean

1

2.50
2.

281
3.

2.57
4,

2.87
5.

2.40
6. 251
7.

321
8.

3.01
9.

2.75
10.

2.96
11. 3.20

2( )

One Sample t-test

S.D.

.956

.932

.888

1.072

.946

1.207

1.014

.940

.930

1.022

.982

-22.182

-18.061

-22.767

-14.909

-23.925

-17.514

-11.088

-14.888

-19.091

-14.397

-11.518

.000*

.000 *

.000 *

.000~*

.000 *

.000*

.000 *

.000 *

O*

.000 *

.000*

100

14

17



13.

14.

15.

16.

17.

18.

10.

20.

»p <0.05

Mean

3.82

431

3.88

3.65

3.70

3.90

381

321

3.17

SD.

.869

.660

793

.928

913

.997

1.064

.954

.986

-3.012

6.639

-2.140

-5.332

-4.645

-1.418

-2.591

-11.709

-11.974

.003 *

.000 *

.034*

.000*

.000*

.158

.010 *

0*

102



0.05

32

0.05

103

0.05

0.05

0.05

0.05

0.05



10.

11.

12.

13.

14.

104

0.05

0.05

0.05

0.05

0.05

0.05

0.05



15.

16.

0.05

17.

19.

20.

105

0.05

0.05

0.05

0.05@

0.05



106

Chi-Square Test

(%69 0.05

5

Chi-Square Test
(X2 0.05
6
Chi-Square Test
(X2 0.05
33
X 2Value = 410.902
Sig. (2-sided) = 0.017 *

* P<0.05

3

0.05



107

Chi-Square Test (X2 0.05



* P<0.05

0.05

0.05

0.05

34

108

X2Value = 38.804
Sig. (2-sided) = 0.002 *
X2Value = 64.825
Sig. (2-sided) = 0.000 *
X2Value = 56.316

Sig. (2-sided) = 0.000 *



*P<0.05

0.05

0.05

0.05

109

X2Value = 25.005
Sig. (2-sided) = 0.095
X2Vvalue = 32.660
Sig. (2-sided) = 0.209
X2Value = 56.544

Sig. (2-sided) = 0.000 *



1]
2]
3.
* P< 0,05
1
0.05
2
0.05
3

0.05

36

36

110

X 2Value = 25.731
Sig. (2-sided) = 0.080
X 2Value = 25.224
Sig. (2-sided) = 0.562
X 2Value = 22.088

Sig. (2-sided) = 0.336



1]

* P<0.05

0.05

0.05

0.05

37

37

X Value = 19.744
Sig. (2-sided) = 0.288
X Value = 29.479
Sig. (2-sided) = 0.338
X 2Value = 25.288

Sig. (2-sided) = 0.191



* P<0.05

0.05

0.05

0.05

112

X2Value = 22.148
Sig. (2-sided) = 0.179
X2Value = 32.177
Sig. (2-sided) = 0.226
X 2Value = 31.616

Sig. (2-sided) = 0.048 *



11
1
2. '
3.
*P<0.05
1
0.05
2.
0.05
3.

0.05

39

39

113

X 2Value = 31.195
Sig. (2-sided) = 0.019 *
X 2Value = 40.486
Sig. (2-sided) = 0.046 *
X 2Value = 29.205

Sig. (2-sided) = 0.084



1
2.
3.
*P<0.05
1
0.05
2.
0.05
3.

0.05

40

114

X Value = 27.662
Sig. (2-sided) = 0.049 *
X Value = 55.346
Sig. (2-sided) = 0.001 *
X 2Value = 41.416

Sig. (2-sided) = 0.003 *



1
2.
3.
* P<0.05
1
0.05
2.
0.05
3.

0.05

4

41

115

X : Value = 27.279
Sig. (2-sided) = 0.054
X 2Value = 45.428
Sig. (2-sided) = 0.015 *
X 2Value = 35.941

Sig. (2-sided) = 0.016 *



Test (%2

Test (X2

Test (Xa

P<0.05

116

Chi-Square
0.05
8
!
Chi-Square
0.05
9 1
!
Chi-Square
0.05
42
!
' X 2Value = 349.827
Sig. (2-sided) = 0.523
42

0.05
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(Content Analysis)
(Manifest)
(Latent)
( )
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(Heterosexual) (Homosexual)

(Heterosexual) (Homosexual)

(Content  Analysis)
(Manifest)

(Latent)

(Heterosexual)

8

(Homosexual)
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1
1
200 Man ( ) 18- 24 19-21
3
2
75,000
(GPA) 2.01 - 3.00
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1

(Heterosexual)

(Heterosexual)

(Homosexual)

(Homosexual)
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(Heterosexual) (Homosexual)

12 2
(Heterosexual) (Homosexual)
(BMI : Body Mass Index)

(Heterosexual)

(Homosexual)
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(Metrosexual) !
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